

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Hazard Av et al Project ID: RDC0016052

Bids Opened: 10/3/2023 Project Manager: Nikolaus Y Reppuhn 626-445-7630

				Engineer's Estimate		(1) Sully-Miller Contracting Company		(2) All American Asphalt		(3) Excel Paving Company		(4) Access Pacific, Inc.	
(1) Pre	(1) Preliminary Bid Amount					\$	4,710,000.00	\$	\$5,362,266.95	\$5,798,691.00		\$6,616,122.43	
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	6	\$500.00	MTH	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
5	IMPLEMENTATION OF THE SWPPP	1	\$20,000.00	LS	\$20,000.00	\$22,000.00	\$22,000.00	\$30,000.00	\$30,000.00	\$29,000.00	\$29,000.00	\$84,000.00	\$84,000.00
6	PREPARATION OF THE SITE- SPECIFIC LEAD COMPLIANCE PLAN (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
7	OFFICE FACILITIES	6	\$5,000.00	MTH	\$30,000.00	\$11,000.00	\$66,000.00	\$8,000.00	\$48,000.00	\$3,000.00	\$18,000.00	\$8,400.00	\$50,400.00
8	MOBILIZATION	1	\$362,000.00	LS	\$362,000.00	\$365,000.00	\$365,000.00	\$350,000.00	\$350,000.00	\$578,000.00	\$578,000.00	\$560,000.00	\$560,000.00
9	CLEARING AND GRUBBING	1	\$15,000.00	LS	\$15,000.00	\$90,769.00	\$90,769.00	\$44,500.00	\$44,500.00	\$24,000.00	\$24,000.00	\$14,000.00	\$14,000.00
10	REMOVE AND SALVAGE WROUGHT IRON FENCE	23	\$54.00	LF	\$1,242.00	\$120.00	\$2,760.00	\$155.00	\$3,565.00	\$50.00	\$1,150.00	\$84.00	\$1,932.00
11	CONCRETE REMOVAL (NON- REINFORCED)	730	\$285.00	CY	\$208,050.00	\$360.00	\$262,800.00	\$295.00	\$215,350.00	\$310.00	\$226,300.00	\$476.00	\$347,480.00

Bids Opened: 10/3/2023 Project Manager: Nikolaus Y Reppuhn 626-445-7630

				Engine	eer's Estimate	(1) Sully-Miller Contracting Company		(2) All American Asphalt		(3) Excel Paving Company		(4) Acces	s Pacific, Inc.
(1) Preliminary Bid Amount				\$	34,710,000.00	\$	5,362,266.95	\$5,798,691.00		\$6,616,122.43			
(2) Unit Price Detail													
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
12	CONCRETE REMOVAL	12	\$400.00	CY	\$4,800.00	\$630.00	\$7,560.00	\$720.00	\$8,640.00	\$400.00	\$4,800.00	\$980.00	\$11,760.00
	(REINFORCED)												
13	UNCLASSIFIED EXCAVATION	1835	\$172.50	CY	\$316,537.50	\$190.00	\$348,650.00	\$165.00	\$302,775.00	\$215.00	\$394,525.00	\$154.00	\$282,590.00
14	UNCLASSIFIED EXCAVATION (ROADWAY)	5990	\$75.00	CY	\$449,250.00	\$90.00	\$539,100.00	\$65.00	\$389,350.00	\$100.00	\$599,000.00	\$123.20	\$737,968.00
15	AGRONOMIC SOIL REPORT	2	\$330.00	EA	\$660.00	\$1,500.00	\$3,000.00	\$2,900.00	\$5,800.00	\$350.00	\$700.00	\$1,400.00	\$2,800.00
16	CLASS "D" BIOSWALE SOIL	6	\$172.50	CY	\$1,035.00	\$120.00	\$720.00	\$2,025.00	\$12,150.00	\$200.00	\$1,200.00	\$280.00	\$1,680.00
17	DRAINAGE GEOTEXTILE	43	\$11.50	SY	\$494.50	\$20.00	\$860.00	\$50.00	\$2,150.00	\$10.00	\$430.00	\$56.00	\$2,408.00
18	STABILIZATION GEOTEXTILE	1159	\$6.50	SY	\$7,533.50	\$12.00	\$13,908.00	\$3.50	\$4,056.50	\$14.00	\$16,226.00	\$14.00	\$16,226.00
19	CONCRETE SEDIMENT TRAP	2	\$1,725.00	EA	\$3,450.00	\$5,200.00	\$10,400.00	\$3,850.00	\$7,700.00	\$3,000.00	\$6,000.00	\$4,900.00	\$9,800.00
	SPLASH PAD												
20	CRUSHED AGGREGATE BASE	8	\$207.00	CY	\$1,656.00	\$350.00	\$2,800.00	\$245.00	\$1,960.00	\$400.00	\$3,200.00	\$210.00	\$1,680.00
21	CRUSHED MISCELLANEOUS BASE	1157	\$135.00	CY	\$156,195.00	\$140.00	\$161,980.00	\$108.00	\$124,956.00	\$214.00	\$247,598.00	\$196.00	\$226,772.00
22	CEMENT STABILIZED PULVERIZED BASE, 8" THICK	28089	\$10.00	SY	\$280,890.00	\$9.00	\$252,801.00	\$13.00	\$365,157.00	\$10.00	\$280,890.00	\$9.87	\$277,238.43
23	PORTLAND CEMENT FOR CSPB	552	\$230.00	TON	\$126,960.00	\$220.00	\$121,440.00	\$250.00	\$138,000.00	\$240.00	\$132,480.00	\$331.80	\$183,153.60
24	PRIME/TACK COAT FOR CSPB	5617	\$10.00	GAL	\$56,170.00	\$10.00	\$56,170.00	\$9.75	\$54,765.75	\$7.00	\$39,319.00	\$9.80	\$55,046.60
25	CSPB MIX DESIGN (STIPULATED UNIT PRICE OF \$15,000)	1	\$15,000.00	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
26	AC PAVEMENT	4046	\$130.00	TON	\$525,980.00	\$125.00	\$505,750.00	\$120.00	\$485,520.00	\$114.00	\$461,244.00	\$189.00	\$764,694.00
27	AC PAVEMENT(PATCH BACK)	156	\$400.00	TON	\$62,400.00	\$300.00	\$46,800.00	\$340.00	\$53,040.00	\$220.00	\$34,320.00	\$350.00	\$54,600.00
28	RECONSTRUCT MANHOLE	38	\$2,500.00	EA	\$95,000.00	\$2,300.00	\$87,400.00	\$2,475.00	\$94,050.00	\$2,000.00	\$76,000.00	\$5,250.00	\$199,500.00
29	PCC PAVEMENT	300	\$500.00	CY	\$150,000.00	\$450.00	\$135,000.00	\$850.00	\$255,000.00	\$640.00	\$192,000.00	\$1,330.00	\$399,000.00
30	ASPHALT RUBBER HOT MIX	1888	\$150.00	TON	\$283,200.00	\$160.00	\$302,080.00	\$150.00	\$283,200.00	\$132.00	\$249,216.00	\$189.00	\$356,832.00
31	ASPHALT RUBBER HOT MIX (TEST STRIP)	500	\$150.00	TON	\$75,000.00	\$175.00	\$87,500.00	\$190.00	\$95,000.00	\$148.00	\$74,000.00	\$189.00	\$94,500.00
32	36" MANHOLÉ FRAME AND COVER	1	\$15,000.00	EA	\$15,000.00	\$2,100.00	\$2,100.00	\$3,450.00	\$3,450.00	\$2,500.00	\$2,500.00	\$2,940.00	\$2,940.00

Bids Opened: 10/3/2023 Project Manager: Nikolaus Y Reppuhn 626-445-7630

			Engineer's Estimate (1) Sully-Miller Con		er Contracting Company	(2) All Ame	erican Asphalt	(3) Excel Paving Company		(4) Acces	s Pacific, Inc.		
(1) Preliminary Bid Amount		\$4,710,000.00		\$5,362,266.95		\$5,798,691.00		\$6,616,122.43					
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
33	CURB DRAIN PER STD PLAN 150, N=1, CASE 3 INLET	1	\$1,000.00	EA	\$1,000.00	\$1,700.00	\$1,700.00	\$3,100.00	\$3,100.00	\$3,400.00	\$3,400.00	\$3,500.00	\$3,500.00
34	PARKWAY DRAIN PER STD PLAN 151, S=24", INLET TYPE 2	1	\$5,700.00	EA	\$5,700.00	\$5,700.00	\$5,700.00	\$10,500.00	\$10,500.00	\$4,500.00	\$4,500.00	\$5,992.00	\$5,992.00
35	PARKWAY CULVERT PER STD PLAN 3055-1	49	\$400.00	LF	\$19,600.00	\$450.00	\$22,050.00	\$825.00	\$40,425.00	\$430.00	\$21,070.00	\$140.00	\$6,860.00
36	REINFORCED CONCRETE STAIRWAY PER STD PLAN 640	3	\$5,000.00	CY	\$15,000.00	\$1,500.00	\$4,500.00	\$4,620.00	\$13,860.00	\$8,300.00	\$24,900.00	\$1,540.00	\$4,620.00
37	MASONRY RETAINING WALL PER STD PLAN 618-3, TYPE A	128	\$100.00	SF	\$12,800.00	\$160.00	\$20,480.00	\$92.00	\$11,776.00	\$99.00	\$12,672.00	\$70.00	\$8,960.00
38	MASONRY RETAINING WALL PER STD PLAN 618-3, TYPE B	102	\$100.00	SF	\$10,200.00	\$170.00	\$17,340.00	\$88.00	\$8,976.00	\$97.00	\$9,894.00	\$70.00	\$7,140.00
39	PCC FOOTING FOR MASONRY RETAINING WALL	7	\$1,500.00	CY	\$10,500.00	\$650.00	\$4,550.00	\$715.00	\$5,005.00	\$700.00	\$4,900.00	\$1,540.00	\$10,780.00
40	SHORING OF OPEN EXCAVATIONS	1	\$5,000.00	LS	\$5,000.00	\$10,000.00	\$10,000.00	\$4,950.00	\$4,950.00	\$7,000.00	\$7,000.00	\$14,000.00	\$14,000.00
41	LOW CONCRETE RETAINING WALL	47	\$51.75	LF	\$2,432.25	\$520.00	\$24,440.00	\$485.00	\$22,795.00	\$145.00	\$6,815.00	\$98.00	\$4,606.00
42	PCC CURB, TYPE A1-6	149	\$40.00	LF	\$5,960.00	\$70.00	\$10,430.00	\$35.00	\$5,215.00	\$62.00	\$9,238.00	\$58.80	\$8,761.20
43	PCC CURB, TYPE A1-8	181	\$40.00	LF	\$7,240.00	\$60.00	\$10,860.00	\$37.00	\$6,697.00	\$62.00	\$11,222.00	\$58.80	\$10,642.80
44	PCC CURB & GUTTER, TYPE A2-6	597	\$55.00	LF	\$32,835.00	\$50.00	\$29,850.00	\$60.00	\$35,820.00	\$83.00	\$49,551.00	\$81.20	\$48,476.40
45	PCC CURB & GUTTER, TYPE A2-8	1516	\$55.00	LF	\$83,380.00	\$55.00	\$83,380.00	\$62.00	\$93,992.00	\$83.00	\$125,828.00	\$81.20	\$123,099.20
46	PCC CURB, TYPE A1-VAR	82	\$45.00	LF	\$3,690.00	\$55.00	\$4,510.00	\$43.00	\$3,526.00	\$62.00	\$5,084.00	\$56.00	\$4,592.00
47	PCC CURB & GUTTER, TYPE A2-VAR	680	\$60.00	LF	\$40,800.00	\$50.00	\$34,000.00	\$73.00	\$49,640.00	\$83.00	\$56,440.00	\$81.20	\$55,216.00
48	LONGITUDINAL GUTTER	1	\$1,000.00	CY	\$1,000.00	\$2,000.00	\$2,000.00	\$595.00	\$595.00	\$985.00	\$985.00	\$1,400.00	\$1,400.00
49	PCC WALK & DRIVEWAYS, 4" THICK	12226	\$10.00	SF	\$122,260.00	\$11.00	\$134,486.00	\$13.25	\$161,994.50	\$17.00	\$207,842.00	\$14.00	\$171,164.00
50	PCC CURB RAMPS	133	\$1,000.00	CY	\$133,000.00	\$1,180.00	\$156,940.00	\$1,385.00	\$184,205.00	\$1,600.00	\$212,800.00	\$1,330.00	\$176,890.00

Bids Opened: 10/3/2023 Project Manager: Nikolaus Y Reppuhn 626-445-7630

	Engineer's Estin		eer's Estimate	(1) Sully-Miller Contracting Company		(2) All American Asphalt		(3) Excel Paving Company		(4) Acces	s Pacific, Inc.		
(1) Preliminary Bid Amount				\$4,710,000.00		\$5,362,266.95		\$5,798,691.00		\$6,616,122.43			
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
51	PCC WALK & DRIVEWAYS, 6"	197	\$15.00	SF	\$2,955.00	\$20.00	\$3,940.00	\$23.00	\$4,531.00	\$22.00	\$4,334.00	\$19.60	\$3,861.20
	THICK												
52	PCC, 4" THICK	239	\$15.00	SF	\$3,585.00	\$15.00	\$3,585.00	\$13.50	\$3,226.50	\$18.00	\$4,302.00	\$19.60	\$4,684.40
53	RIVER ROCK PAVING	114	\$18.40	SF	\$2,097.60	\$40.00	\$4,560.00	\$22.00	\$2,508.00	\$24.00	\$2,736.00	\$35.00	\$3,990.00
54	RIVER ROCK COBBLE	345	\$8.00	SF	\$2,760.00	\$15.00	\$5,175.00	\$11.00	\$3,795.00	\$14.00	\$4,830.00	\$35.00	\$12,075.00
55	DETECTABLE WARNING	918	\$55.00	SF	\$50,490.00	\$55.00	\$50,490.00	\$97.00	\$89,046.00	\$75.00	\$68,850.00	\$70.00	\$64,260.00
	SURFACE												
56	CROSS GUTTER	104	\$600.00	CY	\$62,400.00	\$570.00	\$59,280.00	\$715.00	\$74,360.00	\$860.00	\$89,440.00	\$1,120.00	\$116,480.00
57	CROSS GUTTER (MOD)	93	\$600.00	CY	\$55,800.00	\$650.00	\$60,450.00	\$715.00	\$66,495.00	\$870.00	\$80,910.00	\$1,120.00	\$104,160.00
58	ALLEY INTERSECTION	6	\$1,000.00	CY	\$6,000.00	\$1,240.00	\$7,440.00	\$765.00	\$4,590.00	\$980.00	\$5,880.00	\$1,330.00	\$7,980.00
59	METAL HAND RAILINGS PER	42	\$300.00	LF	\$12,600.00	\$400.00	\$16,800.00	\$420.00	\$17,640.00	\$400.00	\$16,800.00	\$210.00	\$8,820.00
	STD PLAN 606												
60	WROUGHT IRON FENCE PER	22	\$500.00	LF	\$11,000.00	\$500.00	\$11,000.00	\$540.00	\$11,880.00	\$500.00	\$11,000.00	\$280.00	\$6,160.00
	DETAIL ON SHEET 17												
61	WROUGHT IRON GATE PER	1	\$3,000.00	EA	\$3,000.00	\$8,500.00	\$8,500.00	\$8,650.00	\$8,650.00	\$8,000.00	\$8,000.00	\$5,600.00	\$5,600.00
	DETAIL ON SHEET 17												
62	RECONSTRUCT CATCH	1	\$7,000.00	EA	\$7,000.00	\$10,500.00	\$10,500.00	\$14,000.00	\$14,000.00	\$12,000.00	\$12,000.00	\$12,518.80	\$12,518.80
	BASIN TOP PER DETAIL A,												
	SHEET 4, 1-GRATE												
	(INCLUDING ARS)		<u> </u>		#7 000 00	A O 7 OO OO	#0.700.00	**	* 44.000.00	40.000.00	# 0.000.00	***	<u> </u>
63	RECONSTRUCT CATCH	1	\$7,000.00	EA	\$7,000.00	\$8,700.00	\$8,700.00	\$11,200.00	\$11,200.00	\$9,800.00	\$9,800.00	\$9,940.00	\$9,940.00
	BASIN TOP PER DETAIL B,												
- 0.4	SHEET 4, 1-GRATE		Ф7 000 00		#20,000,00	\$40 F00 00	£40,000,00	£44.400.00	\$57.000.00	¢44.000.00	£44.000.00	£40,440,00	\$49.784.00
64	RECONSTRUCT CATCH	4	\$7,000.00	EA	\$28,000.00	\$10,500.00	\$42,000.00	\$14,400.00	\$57,600.00	\$11,000.00	\$44,000.00	\$12,446.00	\$49,784.00
	BASIN TOP PER DETAIL B,												
65	SHEET 4, 2-GRATES RECONSTRUCT CATCH	2	\$7,000.00	EA	\$14,000.00	\$8,100.00	\$16,200.00	\$10,350.00	\$20,700.00	\$8,000.00	\$16,000.00	\$9,149.00	\$18,298.00
03	BASIN TOP PER DETAIL C,	2	Ψ7,000.00	EA	φ14,000.00	ψ0,100.00	ψ10,200.00	ψ10,330.00	Ψ20,700.00	ψ0,000.00	φ10,000.00	ψθ, 149.00	ψ10,290.00
	SHEET 4, 1-GRATE												
66	INFILTRATION BASIN PER	5	\$15,000.00	EA	\$75,000.00	\$14,800.00	\$74,000.00	\$23,500.00	\$117,500.00	\$23,000.00	\$115,000.00	\$8,671.60	\$43,358.00
00	DETAIL A ON SHEET 5	3	φ10,000.00		ψ1 0,000.00	Ψ11,000.00	ψ1 1,000.00	Ψ20,000.00	Ψ117,000.00	Ψ20,000.00	Ψ110,000.00	ψο,στ 1.00	Ψ 10,000.00
67	4" CONDUIT (SCH 80 PVC)	175	\$100.00	LF	\$17,500.00	\$100.00	\$17,500.00	\$88.00	\$15,400.00	\$100.00	\$17,500.00	\$112.00	\$19,600.00
68	NO. 6 PULL BOX INCL PCC	5	\$1,000.00	EA	\$5,000.00	\$3,000.00	\$15,000.00	\$2,640.00	\$13,200.00	\$2,500.00	\$12,500.00	\$3,360.00	\$16,800.00
00	COVER	3	, ,,,,,,,,,		,	, - ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,- :	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	, ,=====	, - ,	, ,,,,,,,,,,,,,
	00 v L. (

Bids Opened: 10/3/2023 Project Manager: Nikolaus Y Reppuhn 626-445-7630

				Engineer's Estimate		(1) Sully-Miller Contracting Company		(2) All Am	(2) All American Asphalt		(3) Excel Paving Company		s Pacific, Inc.	
(1) Pre	eliminary Bid Amount					\$	\$4,710,000.00		\$5,362,266.95		\$5,798,691.00		\$6,616,122.43	
(2) Un	it Price Detail													
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	
69	INDUCTIVE LOOP DETECTOR	500	\$14.00	LF	\$7,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$15.00	\$7,500.00	\$25.20	\$12,600.00	
	AND LEADS SAW CUT													
70	DETAIL 2 (THERMOPLASTIC)	2330	\$3.25	LF	\$7,572.50	\$1.40	\$3,262.00	\$1.20	\$2,796.00	\$2.00	\$4,660.00	\$2.80	\$6,524.00	
71	DETAIL 22	1740	\$5.20	LF	\$9,048.00	\$3.00	\$5,220.00	\$2.40	\$4,176.00	\$3.00	\$5,220.00	\$4.20	\$7,308.00	
	(THERMOPLASTIC)													
72	DETAIL 32	790	\$6.80	LF	\$5,372.00	\$4.00	\$3,160.00	\$3.30	\$2,607.00	\$5.00	\$3,950.00	\$5.60	\$4,424.00	
	(THERMOPLASTIC)													
73	DETAIL 38	430	\$5.10	LF	\$2,193.00	\$3.00	\$1,290.00	\$2.20	\$946.00	\$2.00	\$860.00	\$5.60	\$2,408.00	
	(THERMOPLASTIC)													
74	PAVEMENT MARKINGS	1519	\$13.00	SF	\$19,747.00	\$18.00	\$27,342.00	\$13.20	\$20,050.80	\$7.00	\$10,633.00	\$23.80	\$36,152.20	
	(THERMOPLASTIC)		4= 0=		A 10 = 00 = 5	44.00	47.500.00		* = 0= 1 = 0		AT 700 00	40.00	410.551.00	
75	12" STRIPING	1895	\$7.25	LF	\$13,738.75	\$4.00	\$7,580.00	\$3.10	\$5,874.50	\$4.00	\$7,580.00	\$9.80	\$18,571.00	
	(THERMOPLASTIC)	0.50	044.00		#0 F7F 00	Φ0.00	#0.000.00	Φ0.45	#4.507.50	\$7.00	Ø4 750 00	#40.00	<u> </u>	
76	24" STRIPING	250	\$14.30	LF	\$3,575.00	\$8.00	\$2,000.00	\$6.15	\$1,537.50	\$7.00	\$1,750.00	\$16.80	\$4,200.00	
77	(THERMOPLASTIC)	370	\$8.50	LF	\$3,145.00	\$3.00	\$1,110.00	\$2.20	\$814.00	\$4.00	\$1,480.00	\$4.20	\$1,554.00	
77	CURB MARKINGS (ONE- COAT PAINT)	370	φο.50	LF	ф 3,143.00	φ3.00	\$1,110.00	Φ 2.20	\$614.00	Φ4.00	Φ1,460.00	Φ4.20	φ1,334.00	
78	REMOVE PAVEMENT	119	\$9.25	SF	\$1,100.75	\$8.00	\$952.00	\$6.60	\$785.40	\$10.00	\$1,190.00	\$14.00	\$1,666.00	
78	MARKINGS (PAINT)	119	φ9.23	SF.	\$1,100.73	φο.υυ	φ932.00	φ0.00	\$705.40	φ10.00	φ1,190.00	φ14.00	φ1,000.00	
79	REMOVE 8" STRIPING	600	\$5.60	LF	\$3,360.00	\$8.00	\$4,800.00	\$6.60	\$3,960.00	\$8.00	\$4,800.00	\$5.60	\$3,360.00	
19	(PAINT)	000	Ψ0.00	Li	ψο,σσσ.σσ	ψο.σσ	ψ1,000.00	ψ0.00	ψο,σσσ.σσ	ψ0.00	ψ 1,000.00	Ψ0.00	ψο,σσσ.σσ	
80	INSTALL FIRE HYDRANT	13	\$20.00	EA	\$260.00	\$20.00	\$260.00	\$16.50	\$214.50	\$10.00	\$130.00	\$39.20	\$509.60	
00	LOCATION RPM	10	,		,	•	,	,	,	,	,	,	,	
81	SIGN POST (ROADSIDE	15	\$400.00	EA	\$6,000.00	\$550.00	\$8,250.00	\$495.00	\$7,425.00	\$300.00	\$4,500.00	\$364.00	\$5,460.00	
	SIGN)													
82	SIGN PANEL	32	\$300.00	EA	\$9,600.00	\$300.00	\$9,600.00	\$240.00	\$7,680.00	\$125.00	\$4,000.00	\$700.00	\$22,400.00	
83	RELOCATE SIGN	6	\$350.00	EA	\$2,100.00	\$430.00	\$2,580.00	\$375.00	\$2,250.00	\$130.00	\$780.00	\$700.00	\$4,200.00	
84	REMOVE SIGN	7	\$250.00	EA	\$1,750.00	\$250.00	\$1,750.00	\$220.00	\$1,540.00	\$65.00	\$455.00	\$700.00	\$4,900.00	
85	TRAFFIC CONTROL	1	\$211,000.00	LS	\$211,000.00	\$60,000.00	\$60,000.00	\$660,000.00	\$660,000.00	\$697,000.00	\$697,000.00	\$476,000.00	\$476,000.00	
86	FURNISH AND PLANT 24"	5	\$1,000.00	EA	\$5,000.00	\$900.00	\$4,500.00	\$990.00	\$4,950.00	\$950.00	\$4,750.00	\$1,400.00	\$7,000.00	
	BOX TREE	-												
87	DECOMPOSED GRANITE, 3"	72	\$12.00	SF	\$864.00	\$5.00	\$360.00	\$6.00	\$432.00	\$6.00	\$432.00	\$28.00	\$2,016.00	
	THICK													

Bids Opened: 10/3/2023 Project Manager: Nikolaus Y Reppuhn 626-445-7630

			Engineer's Estimate		(1) Sully-Miller Contracting Company		(2) All American Asphalt		(3) Excel Paving Company		(4) Access Pacific, Inc.		
(1) Preliminary Bid Amount				\$4,710,000.00		\$5,362,266.95		\$5,798,691.00		\$6,616,122.43			
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
88	TREE WELL AND COVER PER	4	\$2,500.00	EA	\$10,000.00	\$6,200.00	\$24,800.00	\$550.00	\$2,200.00	\$600.00	\$2,400.00	\$3,500.00	\$14,000.00
	STD PLAN 519, TYPE 1												
89	LANDSCAPING	1	\$253.00	LS	\$253.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$11,000.00	\$11,000.00	\$21,000.00	\$21,000.00
90	90 DAY LANDSCAPE PLANT	1	\$2,000.00	LS	\$2,000.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$16,800.00	\$16,800.00
	ESTABLISHMENT PERIOD												
Unit P	rice Total			\$4,480,767.35		\$4,710,000.00		\$5,362,266.95		\$5,798,691.00		9	\$6,616,122.43
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$150,000.00	
(4) LSBE/DVBE/SE Adjusted Amount					;	\$4,710,000.00	\$	5,362,266.95	\$	5,798,691.00	Ç	\$6,466,122.43	
Comments					APPARENT	LOW BIDDER							